Date: December 20 2022

The following candidates of School of Education have cleared all the courses prescribed for the B. Tech. Ed. in Information Technology First Year First Semester examinations held in the month of October 2022.

NOTICE

Sindhuli Community Technical Institute

Examination Roll No.:

11002

11004

11005

11006

11008

11009

11010

11012

11013

11014

11015

Prof. Panna Thapa, Ph. D.

The following candidates of **B. Tech. Ed. in Information Technology** who appeared in the **First** Year **First** Semester examinations held in the month of **October 2022** and have failed in not more than 50% semester credit load are eligible to appear in the compartmental examination.

NOTICE

Sindhuli Community Technical Institute

Reg. No.	Exam Roll No.	Course No.	
030939-22	11001	ITEX 110	
030941-22	11003	ITEX 100, ITEX 110	
030945-22	11007	ITEX 110	
030949-22	11011	EDUC 100, ITEX 102, ITEX 110	

Prof. Panna Thapa, Ph. D.

Date: December 20 2022

The following candidates of School of Education have cleared all the courses prescribed for the B. Tech. Ed. in Civil Engineering First Year First Semester examinations held in the month of October 2022.

Sindhuli Community Technical Institute

Examination Roll No.:

11001

11002

11003

11005

11008

11009

11010

11013

11017

11021

Prof. Panna Thapa, Ph. D.

Date: December 20 2022

NOTICE

The following candidates of **B. Tech. Ed. in Civil Engineering** who appeared in the **First** Year **First** Semester examinations held in the month of **October 2022** and have failed in not more than 50% semester credit load are eligible to appear in the compartmental examination.

Sindhuli Community Technical Institute

Reg. No.	Exam Roll No.	Course No.
030921-22	11004	EGEX 100
030923-22	11006	CEEX 100
030924-22	11007	EGEX 100
030928-22	11011	EGEX 100
030929-22	11012	EGEX 100, CEEX 100, CEEX 110
030931-22	11014	EGEX 100, CEEX 110
030932-22	11015	CEEX 110
030933-22	11016	EDUC 100, EGEX 100, CEEX 110
030935-22	11018	EGEX 100, CEEX 110
030936-22	11019	EGEX 100, CEEX 110
030937-22	11020	EGEX 100, CEEX 110

Prof. Panna Thapa, Ph. D.